FEEREBIBRE=SI VAR (EREEIE) KR
FERK 242 138
[RF DK EBR xR A (RGHRIL)
BERKEREARL (RFHID
O---REIBREREEFH AEBHR)
A REBRERBKRIFAR
BEES ZREREE(uSv/h)
W 50cm #’iﬁi-E%I:B(Tést&ﬁ(ﬂ%&lﬁq!%)ﬁiﬁ‘aﬁi B
. N - ) B " ThE
No.| AT | B £ #8958 | B8 | o |rpalmmnl o B IRESE %
ik Q|Q|@| O |FHiE|RAEER
im (FfE)
50cm 0.66 0.16 0.25 (0.30/0.28(0.33/0.34| 0.30 1.2
389 | ERET | REE |[BREBHKREM 9A8H O
Tm 0.27 0.27 1.1
50cm 0.68 0.35 0.37 (0.63|0.41(0.42|0.38| 0.44 14 - -
- BIEREICSNTIE. RERUERORSELT
30| EHRE | REE |MREHEEHR SRR — » onl O |soemda BiE DIt 1miHIDBERERL
m K K -
50cm 047 0.22 0.21 {0.24]10.26(0.35|0.31 0.27 0.96 - -
- - BIEREICSNTIE. RERUBEHRORSELT
31| ERAET | REE | RIHFHREN 9R128E 1 o T O |socnd&BED:-. ImERIEBERREL
m .. .. -
50cm 0.42 0.17 0.16 [0.24]|0.18(0.24|0.21 0.21 0.84 - -
- BIEREICSNTIE., RERUBEHRORSELT
392\ EIREr | REE |KBFHEEN 9R128E 1 - - O |sond#&BED:-. ImERIEBERREL
m . . -
50cm 0.70 0.36 0.84 [0.77|0.78(0.81|0.83| 0.81 0.90 - -
= - BIEREICSNTIE RERUBERORSELT
%3| ERAT | REE | KAREHRERR PRSR - 7o 50emDFH A8, 1 miEHIEAEEERL
m . . -
50cm 0.78 0.22 0.19 [0.33|0.21(0.26|/0.25| 0.25 0.87
394 | ERHET | H#E ERETIFIFHHE 9A98 O
Tm 0.21 0.21 0.83
50cm 0.39 0.28 0.24 [0.47)10.24|0.26|0.21 0.28 0.99
395 | ERHET | H#E ERETIEANHE 9A8H O
im 0.25 0.25 0.92
50cm | 049 | 0.15 | 0.18 [027]|0.20[0.20|0.20| 021 0.86
396 | [ERHET INERE |ERETILAKRF/NER 9A9R (@]
Tm 0.18 0.18 0.77
50cm 0.88 0.35 0.19 [0.20/0.26(0.23|0.19| 0.21 0.89
397 | ERHET INERE |E RETIARIE/DER 9A9R (@]
Tm 0.18 0.18 0.87
50cm 0.49 0.21 0.17 [0.47|0.28(0.54|0.27| 0.35 1.0
398 | ERHET INERE | E RETIL R A/ 9A8H (@]
im 0.18 0.18 1.1
50cm 0.71 0.23 0.23 [0.37/0.33(0.36|0.27 0.31 0.95
399 | ERHET INERE | E RETIL/MR/NERR 9A9R (@]
Tm 0.22 0.22 0.46
400 | ERET | P |BRELEILPEKR 9A8H im | 049 | 023 | 0.18 [0.20/0.15(0.20|0.26| 0.20 0.87 (@)

X TATEAERR (FHE) 1L, RRI6A1B~10BICRELEMEERBERSRE=S) 7 - 2REFREIE T HAEE. TOMHMIOVNTIE. FEMISEHT 5.




